Paper / Subject Code: 96035/ Economics: Paper |
Q. P. Code: 52162

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.

2. Each questions carries 20 marks.

3. Draw diagrams wherever necessary.

4. Use simple calculator is allowed.

Q.1 Answer the following guestions. (any two) (20)
a) Explain circular flow of income in an open economy.
b) Explain the concepts of GDP, GNP and NNP.
c) Explain the trends in the sectoral composition of GDP.

Q.2 Answer the following questions. (any two) (20)
a) Explain the factors affecting the consumption function.
b) Explain the working of the multiplier with the help of Schedule and diagram.
c) Explain trends and«composition of Capital Formation in India.

Q.3 Answer the following questions. (any two) (20)
a) Explain meaning and featuresof public goods and merits goods.
b) Discuss the factors influencing/ineidence of taxation.
c) Explain the concepts Revenue and Capital Expenditure.

Q.4 Answer the following questions. (any two) (20)
a) Explain the structure of Balance of Payment.
b) What are the types of disequilibrium in the Balance of Payment?
¢) Explain the exchange rate determination.

Q.5 Answer the following questions. (Any two) (20)
a) Explain exchange rate as a price
b) Explain marginal efficiency of capital
c) Explain the concept of GST
d) Write explanatory note on Foreign Exchange Returns (FOREX)
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TEET %) W U HIS U Ty IR,

R) T THTAT R0 70T TR,

3) SEARF qY eIk HATHAT FHIeT.

%) WTEAT 10Tk AT ATIL ShLUATH TS TR,

WAt T 3T ST, (ShIuTeaTel 2I)

3) Heh HAATEAN ST TIhThT T8 T .
o) TS SR TS, T TSLT I o [oa005 T Icara AT Hehod T T 0.
o) TS SR SATETAT &1 Tedier St S8 .

Grefiet T ST ST, (SRIUTeTEr 2)
37) 3T BeTa THOTH SHIUN Heeh T8 .
o) T T STl AT HTEN ORI 1 F98 .
%) ARATdS Wiedd HiHd = Sax o Tt T8 .

GTefieT T ST HiSdT, (SRITeaTat S1)
3) WTSISTIeh & o TUTeh =T & gl e o <HfRTsd 6 .
) FHLARTEL TROTH 0T Heh TI8 T,
) HEYd @9 I Wigaol G BT HehodH1 T8 .

Geftet Tr=f 3T GiSal, (HIUTeATal 31)

37) FIERAIATT ToAT TIE .
¥) FIeRdlTdicl SHHAIATS TehT HIVId?

%) fafa gt Fferdt = .

GIeATAhT SRIUTAET 2 T2 Figall,
3) farfmrer ox T fofbwret AT T o,
o) A= HHid FHRISTHAT T .

%) GST (S T GATHT) Hhed-T TIY .
g) wehr fafmr grer (wite) X fasgwomenss A forar.
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